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ECO 5B 08—INDIA’S ECONOMIC DEVELOPMENT : NATIONAL AND REGIONAL
(Multiple Choice Questions for SDE Candidates)

1. Among the following States which has the highest PCI ?
(A) Goa. (B) Punjab.
(C) Kerala. (D) Maharashtra.
2. Which sector is considered as the work horse of Indian economy ?
(A) Primary. (B) Secondary.
(C) Tertiary. (D) None.
3. Among the Indian States which has the highest density ?
(A) Bengal. (B) Punjab.
(C) Kerala. (D) Bihar.
4. Relative poverty is basically related with :
(A) Poor. (B) Rich.
(C) Both. (D) None.
5. In 2008 Planning Commission appointed a committee to estimate the poverty in India under :
(A) Jain. (B) Sengupta.
(C) Saxena. (D) Tendulkar.
6. Which is the Year of Great Divide ?
(A) 1991. (B) 1947.
(C) 1951. (D) 1921.

7. Which of the following committee was appointed by the Ministry of rural development to recommend
a suitable methodology for identification of BPL families in rural areas.

(A) N.C.Saxena. (B) Tendulkar.

(C) Sengupta. (D) Jain.



10.

11.

12.

13.

14.

15.

The sex ratio of India in 2011 is :

(A) 961. (B) 940.

(C) 980. _ (D) None.
TRYSEM was started in :

(A) 1996. (B) 1990.

(C) 1980. (D) 1979.

Which is an urban poverty eradication Programme ?
(A) JRY. . (B) NREGP.
(C) RLEGP. (D) NRY.
The most faithful measure of ﬁnemployment is:-
(A) Usual Status. (B) Current Weekly Status.
(C) Current daily Status. (D) None.
The ratio of unemployment in India in 2009-10 is :
(A) 5.8. (B) 6.6.
(C) 8.2. (D) None.

The average MPCE of rural people in India according to 68th round of NSSO is :

(A) Rs. 1,281.45. (B) Rs. 2,401.68.
(C) Rs. 2,105. (D) Rs. 455.
Among the following States which has the highest HDI value ?
(A)  Goa. (B) Punjab.
(C) Kerala. (D) Tamil Nadu.
What is the percentage of agricultural population in India in 2012 :
(A) 66 per cent. (B) 35 per cent.

(C) 170 per cent. (D) 90 per cent.
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In which year New Agricultural strategy was introduced in India :

(A) 1960. (B) 1950.
(C) 1966. (D) 1991.
PDS Stands for :
(A) Public Distribution System. (B) Public Division System.
(C) Price Distribution System. (D) All of these.

Agricultural Credit is given by :

(A) Co-operatives. (B) RRBs.

(C) NABARD. (D) All of the above.
India’s Green revolution was most successful in ————— Production :

(A) Wheat. (B) Rice.

(C) Maize. (D) Cotton.

When the first industrial policy was introduced ?
(A) 1951. (B) 1991.

(C) 1948. (D) 1956.
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